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QUESTION 1

A systems engineer is sizing a configuration for a cluster that needs to tolerate up to 2 simultaneous disk failures across
different nodes. What is the minimum number of nodes required? 

A. 3 

B. 4 

C. 5 

D. 6 

Correct Answer: C 

 

QUESTION 2

Where are Leap Availability Zones configured? 

A. Cloud Connect 

B. Controller VM 

C. Prism Element 

D. Prism Central 

Correct Answer: D 

Terminology Availability Zone-it is represented by all resources (Nutanix Clusters) connected to Prism Central or Xi
Leap Availability zone. Depends on the architecture, Availability zone can represent geographic territory, datacenter or
server room in the datacenter. Protection policies ?in protection policies you set up (RPO, Retention), rules to auto-
apply policies to virtual machines 

https://vmwaremine.com/2019/02/08/nutanix-leap-runbooks-part-1/#sthash.VwrzSzhQ.dpbs 

 

QUESTION 3

A prospective customer has a requirement for Data-at-Rest-Encryption for all their data Which two license options are
available to address this requirement? (Choose two) 

A. Pro with the Encryption SKU 

B. Ultimate 

C. Pro 

D. Starter with the Encryption SKU 

Correct Answer: AC 
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QUESTION 4

An HA event occurs, which causes a SQL virtual machine to restart on a different node. What impact will this cation
have on Data Locality? 

A. Data on adjacent nodes will be localized. 

B. VM data will remain as originally written and reads will occur across the network. 

C. Active VM data will be localized 

D. All VM data will be simultaneously migrated as part of the VM migration. 

Correct Answer: B 

 

QUESTION 5

A prospect\\'s business is growing 100% year over year. The prospect is interested in Nutanix for their main datacenter
due to the alility to scale quickly and easily. They have three remote sites that will be refreshed within the next year.
Each site needs to replicate to their many datacenter. The SE proposes the Nutanix NX line, and the prospect asks to
utilize the Xpress line. 

For which reason is the Xpress line the wrong choice? (Choose two) 

A. SX is limited to two 4-node clusters. 

B. SX has a lower services cost for installation. 

C. SX is limited to one 4-node cluster. 

D. SX licensing does not support cluster-to-cluster replication 

E. SX licensing will not support many-to-many-cluster replication 

Correct Answer: AE 
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